VI TMYRIDT YR YR nINI® nNoon WA AT TN MY DT

13.1.6
7b (R"1D K58) 2 8b (m71108 1771Y)

71093 770 2 D 127 MYTND IDY 2197 ‘N 132 DIYITY NI KR VYN ThYN
vy 7100 117 779 N7P7 1 DNY 17PN NVHN NIV NN NPRY NI2YIND Hon NYY? YR Y23 .

722 D727 PRI DYRY 1Y ANPPY 179V R AND I WRY NXIND NN NYR 71200 RY 1Y PR 123 DON TR NN TN DR 3292 0 .
™ 2109 1 19 K77 7PY ANTIY NIPI? T9¥Y NEN XY ANNR YR YR .

L Yet another attempt to identify the need for 1"%p; base assumption — 11 1Y V¥ N5 AMT WYY

a.  Suggestion: ywxn nna from NR NWR to allow NWR MmNk (hence — need for MYy to block that reasoning)

b.  Rejection: R NWR is 1 MR, NWR MnR (who falls to o12» [NR NWR]) is 2 DNOR

c.  Defense: why distinguish between 1 and 2 m10°% — once it’s been permitted...

d. Support for the premise: ruling of ymxn whose 8" day is 10’12 7 and becomes a »p Yva on that day may
enter n’an 77 to perform mMnn2 jnn in order to become TNV to participate in noa (N12); i.e. once we've
allowed him in as a y71¥n to perform mnna jnn, we also allow him to violate nnnn n MYW NIxn

i. clarification: his entry doesn’t violate an Rn»7IRT nWY
1. (vawiy (v. 1) ruled that oy 9120 may not enter n71y)
ii. challenge: analogy doesn’t hold if living brother married sister #2 first
1. clarification: the mO*R of NWR MNKR came first, which wasn’t released by nn»n
2. disanalog: in the case of ymxn, the “released” MR came first (NI NRMY)
a. further: even if deceased brother married sister #1 first
b. clarification: if the living brother married sister #2 before brother died, there
was never a “permitted moment”, unlike y1xn (permitted before the »p)
c.  support: R9Y admits that if the y11¥n saw a »1p on 8 evening, no allowance

e. conclusion: 19y is needed for case where deceased brother married sister #1 and died, then living
brother married sister #2, where we would think to apply ..., mnwRy 8110

f.  alternatively: follow wp>n of all M»Y to NR NWR (v. 2) — all are permitted as is NR NWR

i. challenge: (to earlier 25 which uses mwx mnx as model) why not compare them to nwxk mnR to forbid?
ii. Answer #1:if we can compare 87p% R RImMnY, we prefer XImn? (MVR Mnx) OR
iii. Answer #2: all others (in this case) involve 2 oo (like nwr mny, unlike NR NWR)
II. Alternative takes on 1%y
a.  R11-Yy used to forbid Ny
i.  NYWITon DD NIN, NP> ANPY (v. 3) used for n1x
2 words — one for (17DR) M¥N DIPN2 MY, one for (ANIN) MXN DIPNI RHY NI
M1y doesn’t need any block, since N1 1y v N NMT NVY PR
->m1¥ should also need no "%y”, since M"Y establishes parity with may
rather: 7179 needed to permit Mxn mipna RHY NI
a.  Clarification: only when n°9y applies, does my nx moR apply
b.  Reduction: m7y herself should be permitted mxn mipna xow
c.  Defense: v. 4 implies 2 (111%%) and 1 (nna)
i.  Solution: mxn BIpn1 both are MOKR; M¥N MIPNA RHYY only ANOR MY
d. Alternate read: mxn mpna only she is 7OR
i. Rejection: no need for mYy
e. Alternate read #2: mxn Dpn1a both are MoR, Mx¥n Dipna ®HY both AMn
i. Rejection: no case where 1 is 1mn, the other MR (as per c)

L

www.dafyomivicc.org 6 © Yitzchak Etshalom 2014




